= AH O
N = 0 &8 AF S & Al A
20008 =F 2 3 AT AIESESH HA
S Aot A E A
M AT AL A2(BBES/MOIFE - +E)

SRl MECH MLEMAL 2e Y 2H(METAIHSEFAH) (&2 &
2N -3 - c2(3H) - NEME - HES 0] AFCH J| & @ Hns
ABHEEAFH A 3,724,610 3,932,353 N207,743

s 1,560,000 1,560,000 0
= 2,164,610 2,372,353 N207,743
Ml AL AU (BHABS/MOIEE - £F) 3,418,783 3,476,488 AB7,705
s 1,560,000 1,560,000 0
o 1,858,783 1,916,488 NB7,705
MAECH HETAL 22 L SH(METAIHS LA 863,767 921,472 NB7,705
)
MLECH HEFAL S 2 863,767 921,472 57,705
101 Q124 4] 6,804 12,509 A5,705
10 JIZHHIZ22XsEE 4 6,804 12,509 N5,705
OFLTLURNAC2HE M H (M AHEZ)
1,651,000 1,651 2,651 A 1,000
OADIIX 22 S A (0aEZ)
1,579,000& 1,579 4,079 A2,500
OF2F =Xl L JIgE WEHA(MAEY)
1,255,400 1,256 3,461 A2,205
301 LEtEAS 0 2,000 A2,000
12 JIEtEAZ 0 2,000 A2,000
OMLTS=ADBA(HAEZ) 0 0 2,000 A2,000
401 Al&HI L 20| 508,796 558,796 50,000
01 Al&HI 503,525 553,525 50,000
Ot =2t =2 (0l A= 2H) 89,000 119,000 30,000
0.4HH 25,000,000 25,000 35,000 A 10,000
0.4 QI3 A 36,000,000& 36,000 56,000 20,000
OJIEH AIEE FHUl(olarE2) 20,000,000& 20,000 40,000 A20,000
405 XHaHESHI 54,000 54,000 0
01 XML =2 SFHSHI 54,000 54,000 0
OIDXNAN =S¥ DETAED |2 (MAEZ)
21,500,000& 21,500 40,000 A 18,500
ODNXAM 2SI P (HAEZ) 0 0 14,000 214,000
O=x&ead YH&EH 7 4,300,000 4,300 0 4,300
OANEXR o= SAAHAAH U (S A
=FD|Q 4E8) 8,600,000 8,600 0 8,600
OANBE R HAE ZRIAF AFRDID| R (YLt
JI28%) 19,600,000 19,600 0 19,600
MHRES (Aot AL A) (0B8] /0lHIH]) 0 150,038 A 150,038
LHEHAX S (AT AIHEL S| H) 0 150,038 A 150,038
ol gl gl 0 150,038 A 150,038
801 oildlbl 0 150,038 A 150,038
01 oflulyl 0 150,038 A 150,038
Oollblbl (ol &t & 2H) 0 & 0 53,000 53,000
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